Year 2 Fractions - Maths Day 10 							26.6.2020  
Please look through the powerpoint to help you before you start these questions. Remember that you may need to use resources or paper to help you work out some of the answers.
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Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning.
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Answers: On the next page so please DO NOT look until you have finished your work first.
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7a.Tilly's grandma has a bag of 28
buttons. She gives - of them to Tilly.

Tilly gives her grandma - of her packet
of 20 buttons.

‘e

Who receives the most?

o |

7b. Drew has a book of 24 stamps. He
uses -2 of the stamps.

He finds —L- of another book of stamps in
his wallet.

Has he got more stamps left
than he used?

s

8a. Find the odd one out.

o

Explain your answer.

#

8b. Find the odd one out.

ci2sesirasonn 2

Explain your answer.

#
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Reasoning and Problem Solving
Equivalence of Half and Two Quarters

Developing
1a. Izy gets the most. Izzy gets 4 sweets,
Rachel gets 2 lollipops.

2a. The circle because only -~ s shaded.

The rest show equivalent fractions.
3a. sidney is comect because each

square has an equivalent fraction shaded.

Expected
4. Gemma gets the most. Gemma gets 8
marbles, Tim gets 6 marbles.

5a. The fraction because itis only—- .

The rest show equivalent fractions.
4a. sam is correct because both Hiangles

have an equivalent fraction shaded.

Greater Depth
7a. Tilly gets the most buttons.

illy gets 14
buttons, Grandma gets 10 buttons.

8a. The counters because only—-

shaded. The rest show equivalent
fractions.

correctbecause 1 and 2~

9a. Adrial + 2

are equivalent fractions.

Reasoning and Problem Solving
Equivalence of Half and Two Quarters

eats the most. Mila eats 2
pieces of fruit, Yasmin eats 4.

2b. The counters because only

is
shaded. The rest show equivalent fractions.
3b. Noah is correct because each circle

has an equivalent fraction shaded.

Expected
4b. John has more cakes left. John has 10

cakes, Zoe has 8 cakes.

$b. The counters because only -

is

shown. The rest show equivalent fra

1
&b. Lo <

s comect because - and 2~

are equivalent fractions.

Greater Depth
7b. Drew has the same number of stamps
left that he used. He used 12 and has 12
left.

8b. The numbe:

e because only -

marked. The rest show equivalent
fractions.
9b. Lou is comrect because both shapes

have equivalent pars shaded.




image1.png
1a. Rachel has 8 sweets and gives - fo
her friend, lzzy.

Izzy shares %of her 4 lollipops with
Rachel.

AL
SR A

Who receives the most?

*r

1b.
eats - of them.
Yasmin eats -2 of her bunch of 8

ila has a packet of 4 apples and

bananas.

& Lhhh
& LLhh

Who eats more pieces of fruit?

R
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3a. Stella and Sidney are looking at

equivalent fractions.

The squares do not
have equivalent
fractions shaded.

Stella says,

Sidney says,

The squares do have
equivalent fractions
shaded.

Who is correct? Explain your answer.

3b. Elena and Noah are looking at
equivalent fractions.

Y,

Elena says,
The do not have
equivalent fractions
shaded.
s

Noah says,

me circles do have
equlvclenl fractions
shaded.

Who is correct? Explain your answer.
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4a. Gemma has a bag of 12 marbles. She
gives - of them fo her brother, Tim.

Tim has a bag of 16 marbles. He gives %
of them to his sister, Gemma.

Who receives the most?

& e

4b. Toe has a packet of 16 cakes. At a
party, -1 of her cakes are eaten.

John has a packet of 20 cakes. % of his
cakes are eaten.

Who has more cakes left?

W
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6a. Suzie and Sam are looking at
equivalent fractions.

Suzie says,

The triangles do not
have equivalent
fractions shaded.

sam says,

The iiangles do have
equivalent fractions
shaded.

Who is correct? Explain your answer.

6b. Louise and Tom are looking at
equivalent fractions.

™

Louise says,

The quadrilaterals both
show % shaded.

Tom says,
The quadiilaterals have
different parts shaded.
They are not the same.

Who is correct? Explain your answer.





